normalized X2

107

1072

107

[ normalized x? probability |

Std Dev_ 0.1356 0.04 :_
0.1356 0‘03;_

0.02 f—

0.01:

Ratio

6 8 10 12 14 16 18 20
2

10

1.1

0 01020304050.60.708

09 1
Prob(x2)

oooood

_pixelCPETemplateCutChiSquarel5_step2.

OITgMAl STEpZ_P T
:pixgeICPETempﬁe step2. ‘p(lmlOODpelalpG(oZpD
_pixelCPETemplateCutChiSquarel0_sfep2__pt1to1000_etalp6to2p0
i = _pt1to1000_etalp6to2p0
_pixelCPETemplateCutChiSquare20_step2__pt1to1000_etalp6to2p0

pixelCPETemplateCutChiSquare30_step2_pt1to1000

etalp6to2p0

< X2/ ndf >

<op./p. > )

Ratio

Ratio

< X2/ ndf >

< X2/ ndf >

Ratio

Ratio

<o pTIpT > (Yo)

16
1.4

1.2

5

S

N

w

19

-1 0 1 2 3

i
T TTTTTTI Ty

1072 107
0 AR(track, jet?



	Contents
	Page 1


